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BEAE FITILRYT FTHEUHIBR : PAR x 2

HDCPLBR: (5) 36.0 (&) 36.0

= L,T I

Xk sk %k %k %k k ok ok k
0UTCCCCCCCCC INCC@CC@C@C
&

JIE BHEES g OUT | IN |GROSS HDCP | NET
B Bl fE— 38] 36/ 74] 1.3/ 66.7 8
HER TH 22 42| 40] 82| 13.4/ 68.6/ &
ML 5T shi 40| 42) 82/ 13.4 68.6 &
4 AR HA 42139 81| 12.2 68.8/&
i [EM £ER 36/ 39 75 6.1 68.9/&
6 B HE— 48] 49] 97/ 28.0 69.0/ &
M |55 BE 43 42) 85/ 15.8/ 69.2/&
8 [EHA ME A1 36/ 77 7.3/ 69.7 &
O [/MMR fETT 39 38 77 7.3/ 69.7%&
1062 AR AR 42| 46) 88/ 18.3] 69.7 &
1 lBR RAE 45| 43| 88| 18.3] 69.7
1260 [ KFZx EE 40 36/ 76| 6.1 69.9
13 = &n— 36/ 34/ 70/ 0.0] 70.0/BG
141 | HE #HE 40/ 41| 81| 11.0] 70.0
15 [HEa #MF 39 41 80 9.7 70.3/8
166 WEX B 42| 48] 90| 19.5] 70.5
17 /DB BF 39 39| 78] 7.3/ 70.7
18 [pft EE 40/ 43] 83| 12.2] 70.8
196 [#l #F 39] 38/ 77| 6.1/ 70.9
2061 ZIAXA —HB 35/ 36/ 71| 0.0 71.0/&
2161 [ E—ER 40 42] 82| 11.0] 71.0
220 | KIF Z=HH 38 44 82/ 11.0] 71.0
261 [FEE BS 38 43] 81| 9.7 71.3
2461 (ZE WA 39 420 81| 9.7 71.3
2561 [ILAX 3K 39] 41 80| 85 71.58
2661 bR Hth 36| 38 T4 2.4 71.6
216 |58 BEE 45| 40] 85| 13.4] 71.6
2861 B B 35 44 79 71.3] 71.7
2067 | FE] EM% 38 A1 79 71.3] 71.7
06 AR 38 40 78] 6.1 11.9/8
KIEFERE 1%9& 46] 49 95/ 23.1] 71.9
3261 [ KE L 47| 41 88| 15.8] 72.2
VS 37/ 39 76| 3.7 72.3
AL [BAR FH A 41 82 9.7 72.3
3B [\NK & 43] 39 82 9.7 72.3/8
366C [t 45| 42) 87| 14.6| 72.4
36 1A F ®WA 38| 43] 81| 8.5 72.5
386 S SHF 38| 43] 81| 8.5 72.5
96 =il BEE 40| 46 86| 13.4] 72.6
401z J#I_l —BR 46] 40 86| 13.4] 72.6/8
NG [F FE 46] 39 85| 12.2] 72.8
026 [HE FEX 43 42 85| 12.2] 72.8
4361 |75 -t,u 43 42 85| 12.2] 72.8
4461 [#AK 42137 79| 6.1/ 72.9
4541 ,S‘ZEEI 7,:2 39] 40 79| 6.1 7298
4661 [k EE 52| 49 101| 28.0| 73.0
4760 [ILs BB 49] 51/ 100| 26.8] 73.2
4861 By EA 43 40/ 83| 9.7 73.3
4961 [E% =F 45/ 38/ 83| 9.7 73.3
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BMBEAE A TILRYT ITEHIPRE : PARXx 2
HDCPERE: (58) 36.0 (%) 36.0
Euw

Xk sk %k %k %k k ok ok k
0UTCCCCCCCCC INCC@CC@C@C

&

JE 15z B E4 Bl OUT | IN |GROSS| HDCP | NET
50 [#PH miZE 45 43] 88] 14.6 13.4]8
51 Bl = 43 45] 88| 14.6| 73.4
5260 | A 1EF 48] 45/ 93] 19.5] 73.5
531 |[#EAR ZEIE 38 38 76| 2.4] 73.6
541 | KA = 50| 54| 104]| 30.4]| 73.6
50 BE 1B 51| 41| 92/ 18.3/ 73.7/&
561 [KZEF M2 47 45] 92| 18.3] 73.7
571 [Jell  E&#E 42 38/ 80 6.1 73.9
58 |BAft EERR 41 39/ 80| 6.1] 73.9
54 RE B 42| 43] 85 11.0] 74.0
60z |AE FE—ER 40/ 45 85 11.0/ 74.0/8
616 [EHA F & 41 49 90| 15.8] 74.2
621 |=:F WE 52| 49] 101]| 26.8] 74.2
636 R EA 49] 46/ 95| 20.7] 74.3
641 [TER E 44  45] 89| 14.6| 74.4
65 |BRZE % 46| 54| 100) 25.6 74.4/E
664 HEFF fE=E 44 39/ 83| 8.5 74.5
67i HF MBBER 48] 46] 94| 19.5] 74.5
684 [ EA 42| 46] 88| 13.4] 74.6
691 [iBE MAA 44 44] 88| 13.4] 74.6
10 |[FF EB= 52| 41| 93/ 18.3] 7478
T [#EE FRF 44 43 87 12.2] 74.8
7261 | KR 1EF 51 53] 104| 29.2| 74.8
1B [%BH B 50| 48 98| 23.1] 74.9
7460 K A 50| 46/ 96| 20.7| 75.3
56 MR B— A 48] 42| 90| 14.6| 75.4|E
7166 | KA == 49| 40| 89 13.4] 75.6
776 EAAX Fh 43| 40] 83| 7.3] 5.7
181 | KF %EE 47 47) 94 18.3] 75.7
1965 /M7 EEB 46| 48] 94| 18.3] 75.7
801 |E¥W ik 42 46| 88/ 12.2] 75.8/8
811 [lh&R — 46| 42/ 88| 12.2| 75.8
821« [#ElL A 52| 51 103| 26.8| 76.2
83 |EE B 39| 41/ 80/ 3.7/ 76.3
844 |#8FT ERA| 45/ 41 86| 9.7| 76.3
85z |FHl %= 54 48| 102| 25.6| 76.4|&
861z FhEH =2 45/ 45 90| 13.4] 76.6
8761 |[HH =A| 51| 44] 95 18.3] 76.7
88 |/KkA FE 57| 53] 110| 32.9| 77.1|BB
89 B & 49| 53] 102| 23.1] 78.9
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